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Solving Quadratic Equations by using the

Graphing Calculator

y=2x*-4x+9




Solve using the calculator: -

Example1: y =x*>+5x+ 6

Steps in Calculator:
P Flotl Flotz Flotz
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¥ Nz B8

wNa=

wNy=

“We=

“Ne=

wNe=




Step 2:

On the Calculator

-Zoom 6

Step 3: ]

On the Calculator

- 2ND TRACE

- 5: Intersection

-move near the
x-intercepts

Yi=hz+Ek+B

Firstcuryve?
A=-1.489z82 IV=.771:85977




[ Step 4: J

On the Calculator

- Enter Enter Enter

IE'Z_%FSE‘:“#I\

The intersections are (-2, 0) and (-3, 0),
so the roots are {-2, -3}

[ Step 5:

On the Calculator
-2nd-Trace-5

-Move cursor close
to the other
intersection AR, T [

-Enter Enter Enter

Intgrsechion F
n="z




{ Step 6: ]Finding the Vertex on the Calculator

On the Calculator

F]!!F!ﬂl:
-2nd Trace HYEIIE)

PP 25 Zero
-Select Min if ais + Minimum

-Select Max if a is - s 1133 1 MUM
2: intersect

B dasdx

7affOxadx

hen the calculator
asks you for left
bound put the cursor
to the left of the
vertex and press
ENTER.

LeftEound?
A=-ZAPEFEE IV=-0Z0EEzE




When the calc asks
for right bound put
the cursor to the
right of the vertex
and press ENTER.

-Hit ENTER again

'|'1=I'I=-'+5}I;E

EidhtEound?
=-1.91489Y IY¥=.09z=4948

Hinirmum
a=-z.E0000l IY=-2E







